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Q.1 Multiple Choice Questions 2

1 24 Bananas were distributed between Shubham and Anil in the ratio 3 : 5, then how many bananas did Shubham get
? 
A) 8           B) 15              C) 12           D) 9

2 The ages of Jatin, Nitin and Mohasin are 16, 24 and 36 years respectively. What is the ratio of Nitin's age to
Mohasin's age ? 
A) 3 : 2          B) 2 : 3          C) 4 : 3          D) 3 : 4

Q.2 Solve the following 8

1 If 4 a b, 8 ab , p are in continued proportion then find the value of p.

2 If a
b =

5
8

, find the value of the following ratios : a+b
a−b

3 Write the ratio of first quantity to second quantity in the reduced form. 
1024 MB, 1.2 GB [(1024 MB = 1 GB)]

4 Check whether the following numbers are in continued proportion. 
3, 5, 8

Q.3 Attempt the following 4

1 Find the reduced form of the ratio of the first quantity to second quantity. 
5 litre, 2500 ml 
5 litre = 5 × 1000 _____ 
          = _____ 

∴     5000
2500 

         = 50
25 

         = _____ 
∴     __________

2 Using the property ab=ak
bk, fill in the blanks substituting proper numbers in the following. 

9
14=4.5

.... =....
42= ....

3.5 

9
14=4.5

7  = _____ = _____

Q.4 Answer the following 6

1 Find the ratio of the first quantity with the second in its simplest form. 
3 min. 54 sec., 2 min. 6 sec.

2 If a : b = 3 : 1 and b : c = 5 : 1 then find the value of : a2

7bc

2 2



3 a
3=b

4=c
7 = .....

6−8+14

Q.5 Solve the following 6

1 If y
b + c − a  = z

c + a − b = x
a + b − c  then prove that a

z + x  = b
x + y = c

y + z .

2 Solve the following equations : x
2+12x−20

3x−5
=x2+8x+12

2x+3

Q.6 Solve the following 8

1
Solve the following equations : (4x+1)2+(2x+3)2

4x2+12x+9
=61

36

2 If a, b, c, d and in proportion, then prove that. 
11a2+9ac
11b2+9bd

 = a2+3ac
b2+3bd

Q.7 Answer the following 6

1
Solve the following equations : (3x−4)3−(x+1)3

(3x−4)3+(x+1)3= 61
189

2
If 7a2+2b2

7a2−2b2=113
13 , find the value of ab


